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Part A: Grammar
Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you will see four words or phrases 
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct 
choice on your answer sheet. 

1- It’s crucial for a couple to have shared goals and values because ... in common, the less you have to
argue about.
1) having more 2) the more you have
3) you have more 4) of having more

2- … by the reported earnings for the first quarter of the fiscal year, the company manager decided to
give her staff a raise.
1) Delighting 2) He is delighted
3) Having delighted 4) Delighted

3- The Wallerstein study indicates that young men and women still experience some of the effects of a
divorce … .
1) has been occurred as each was a child 2) that were occurred when they were children
3) occurring when they were children 4) occurred as each was a child

4- Some buildings that were destroyed or heavily damaged in the earthquake last year … in violation of
the city’s building code.
1) had been constructed 2) constructed
3) was constructed 4) had constructed

5- While going out, I saw that the dirty rugs hadn’t been cleaned yet, and … .
1) the drapes hadn’t neither 2) either hadn’t the drapes
3) not the drapes neither 4) the drapes hadn’t either

6- The company where my wife has been working for more than 15 years is having someone … the
applicants’ references.
1) checked 2) to check
3) check 4) checking

7- … for lifts, the towering landmarks which feature so prominently in today’s architecture would have
been impossible.
1) Not having been 2) If it is not
3) If were it not 4) Had it not been

8- So rarely … visible to the naked eye that when one does, it is considered a major event.
1) a comet does appear 2) does a comet appear
3) a comet appears 4) does appear a comet

9- I don’t think she will consider changing her job after she gets the promotion she has so long wanted,
…?
1) doesn’t she 2) hasn’t she
3) won’t she 4) will she

10- Recent studies on … people learn languages have been accompanied by emphasis among English
language teachers on the learner as an individual.
1) how many 2) what
3) how 4) that

11- The staff is complaining that the space … for their offices in the new building is insufficient. 
1) to have allocated 2) to allocate
3) having allocated 4) having been allocated

12- I … my Mazda since 2015, and I’m not going to sell this car as it’s completely economical and eco-
friendly.
1) have owned 2) have been owning
3) owned 4) am going to own

13- I’ve been able to lose lots of weight since I started going to the gym. I feel I’m in better shape
now than … started a year ago.
1) I was 2) me when
3) when was I 4) I was when I

14- The famous football pundit said that Pelé, whom every football fan knows, was born … 23 October
1940.
1) on 2) in
3) at 4) by

15- The experiment conducted by a group of distinguished scientists in the field of psychology was so
well-funded … achieved within months.
1) that the results were 2) hence, results being
3) for results to be 4) and results

زبان تخصصي دقيقه 105
  سؤالدفترچةدردرسهرشروعازقبلگذاريهدف

  بنويسيد: را خود 10 از چند گذاري هدف ،منحصراً زبان درس هاي سؤال به گويي پاسخ شروع از قبل لطفاً
  بدهيد؟ صحيح پاسخ توانيد مي سؤال چند به سؤال 10 هر از

  است؟بوده10ازچندقبلآزموندرشماعملكرد
 چيست؟امروزآزمونبرايشماگذاريهدف

  امروز آزمونبراي10ازچندگذاريهدف قبلآزمون10ازچند

t.me/Azmoonha_Azmayeshi

forum.konkur.in

www.konkur.in

http://forum.konkur.in/
http://konkur.in/


 1402تير  9  آزمون- »7«پروژة  4  صفحة  زبان صراًمنح اختصاصي  

Part B: Vocabulary
Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see four words or phrases marked 
(1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct choice on 
your answer sheet. 

16- This meeting broadened the … of the program by including topics which initially appeared to be too
advanced for the developing countries.
1) association 2) scope
3) incentive 4) ignorance

17- More than four-fifths of the Serbians are peasant farmers, and the great majority of them … the land
belonging to their own families.
1) originate 2) accumulate
3) subordinate 4) cultivate

18- It seems that they never gave a thought to … future problems when the plans were being laid down
five years ago.
1) unbelievable 2) probable
3) unreasonable 4) respectable

19- The new laws reduce the possibility of unfair … between companies seeking to be listed on the
Exchange.
1) collocation 2) modification
3) discrimination 4) inspection

20- The older generation appeared to be caught between the traditional customs and the modernized
systems, which led to … and unbalanced responses.
1) regulatory 2) exploratory
3) satisfactory 4) contradictory

21- The types of speech errors made by bilingual speakers … doubt on the assumption that phonological
activation is restricted to the target language.
1) dent 2) curb
3) cast 4) launch

22- We remain hopeful that the … in the global economy will provide a boost to exports over the
remainder of this year.
1) tension 2) revival
3) gravel 4) approval

23- Although this strategy has been an effective way to advance knowledge, it provides somewhat less …
evidence than a single comprehensive test of a model.
1) robust 2) marginal
3) dubious 4) rusty

24- Some environmentalists argue that the ever-increasing demand for private cars could be … by more
investment in public transport.
1) merged 2) halted
3) imposed 4) cuddled

25- At the bottom of the ocean, the water remains at a/an … temperature, irrespective of the changing
weather conditions at the surface.
1) constant 2) separate
3) rational 4) evident

26- Sometimes, unexpected economic changes force an organization to ... from its original business plan.
1) violate 2) fulfill
3) deviate 4) enable

27- The price of a product will not change if there is … between the supply and the demand for that
product.
1) principle 2) equilibrium
3) contamination 4) emphasis

28- Unfortunately, rising crime rates seem to be an increasingly common ... of life in big cities today.
1) feature 2) morality
3) pollution 4) conflict

29- Until the sixteenth century, the idea that the Earth moves around the Sun was regarded as a
ridiculous idea, whereas today we accept this … as completely normal.
1) proportion 2) objective
3) infection 4) notion

30- One difficult aspect of writing an essay is selecting material which is … to the topic and excluding the
information which is beside the point.
1) subtle 2) secure
3) relevant 4) trivial

31- The import of live animals is … controlled so as to prevent diseases from being brought into the
country. 
1) unlikely 2) strictly
3) rarely 4) previously
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32- Credit scores … the borrowing process by allowing lenders to make faster, more objective decisions
about a person’s ability to repay.
1) revolutionized 2) constructed
3) envisaged 4) recognized

33- In order to … food supplies throughout the harsh freezing winter, the settlers had to reduce the size
of food portions. 
1) portray 2) sustain
3) surround 4) bypass

34- It is estimated that 10 years from today, half the jobs now available to high school graduates will have
faded out of ..., replaced by jobs that do not exist today.
1) reference 2) maintenance
3) occurrence 4) existence

35- In order to ... the process of learning a second language, we need to be motivated, and we need to
have clear goals of what we hope to achieve.
1) exploit 2) accelerate
3) disrupt 4) hinder

Part C: Sentence Structure 
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct choice 
on your answer sheet.

36-   
1) Having started work on your dissertation and making sure that you have discussed the subject with
your supervisor.
2) To discuss the subject with your supervisor and to make sure that you have started work on your
dissertation.
3) Before starting work on your dissertation, make sure that you have discussed the subject with your
supervisor.
4) Make sure that you have discussed the subject with your supervisor in order to starting work on your
dissertation.

37-   
1) Engineers worked throughout the night and restored electricity to homes which supplies have been cut
off by heavy snow.
2) Engineers worked throughout the night to restore electricity to homes whose supplies had been cut off
by heavy snow.
3) Engineers worked throughout the night restored electricity to homes which supplies had been cut off
by heavy snow.
4) Engineers worked throughout the night and restoring electricity to homes whose supplies have been
cut off by heavy snow.

38-   
1) There was traditionally believed, in many cultures, that men were superior by women, but this attitude
is changing rapid in recent years
2) It has traditionally believed that men, in many cultures, were superior by women, but this attitude is
rapidly changing in recent years
3) There was traditionally believed that men were superior in many cultures to women, but this attitude
has rapid been changing in recent years
4) In many cultures, it was traditionally believed that men were superior to women, but this attitude has
been changing rapidly in recent years.

39-   
1) You can buy goods on the Internet with a credit card, but there is a fraud risk should someone else
obtain the number.
2) Buying goods in the Internet with a credit card can be done; unless there is a fraud risk should
someone else obtains the number.
3) Should someone else obtains the number is a fraud risk if you can buy goods in the Internet with a
credit card.
4) Although there is a fraud risk if someone else obtain the number with which you can buy goods on the
Internet with a credit card.

40-   
1) As it is probably true they are not capable to abstract thought, most animals appear experiencing a
range of emotions.
2) Rarely it is true that they are not capable of abstract thought, many animals appear experiencing a
range of emotions.
3) While it is probably true that they are not capable of abstract thought, most animals appear to
experience a range of emotions.
4) Probably is it true they are not capable to abstract thought, many animals appear to experience a range
of emotions.

t.me/Azmoonha_Azmayeshi

forum.konkur.in

www.konkur.in

http://forum.konkur.in/
http://konkur.in/


 1402تير  9  آزمون- »7«پروژة  6  صفحة  زبان صراًمنح اختصاصي  

Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations by 
choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet. 

A: Good afternoon and welcome to Habitat Hunters. You must be Joseph. 
B: Yes, that’s right. You said on the phone that I could come by at 2:00. Sorry, I’m a little early. 
A: …(41)… . In Calgary’s market, you have to move fast if you want a good apartment! 
B: Actually, I’d settle for almost anything. I’ve been here ten days and the hotel is driving me up the 

…(42)… . My father has me on a strict budget. 
A: Sit right down here now, sir. Let’s talk a little about the places before we go and …(43)… a 

gander.  
41- 1) No problem at all 2) Easy come easy go

3) No, it’s my fault 4) You’ve got a point
42- 1) door 2) roof

3) ceiling 4) wall
43- 1) make                                                    2) find

3) get      4) take
A: You were supposed to attend the meeting, but you didn’t show up at all.
B: Well, my car …(44)… on the way, and it held me up so long that I couldn’t make it.

44- 1) came across     2) broke down
3) pulled over     4) backed up

A: Alex is such a lazy roommate. He never lifts a …(45)…, and I’m the only one to do all the
housework.

B: You’d better have it out on him and talk him into doing it.
45- 1) hand 2) foot

3) finger 4) thumb
Part E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the 
correct choice on your answer sheet. 

Work is generally acknowledged to be one of the major sources of stress and, in our competitive 
society of high achievers, has perhaps ...(46)... disproportionate significance. Most people spend more 
time at work during their working lives than they do at home.  
    Stress is often associated with uncertainty ...(47)... particularly relevant in the workplace. Major 
changes at work, like a merger or take-over, may often bring job losses without ...(48)... intimation. 
These together with the threat of redundancy over a prolonged period are the commonly 
encountered stressors in the workplace. Even if an individual feels ...(49)... in his or her job, the work 
may cause stress in other ways. The desire to progress up the ladder of one’s career or chosen 
profession can make what should be a defined progression through a series of transitions into 
...(50)... . The fear of being overlooked and not achieving a ...(51)... promotion can become an 
overriding pre-occupation rather than a healthy incentive. Just as bad too can be receiving a 
promotion or role about which you feel uncertain to ...(52)... . Other stressors at work may stem from 
the uncertainty about how individuals are rated by those to whom they are reporting, ...(53)..., or 
about their ability to handle an assigned role.  
    In many jobs, stress ...(54)... by pressures from within the individual. Everyone working in any 
organization – even the chairman or Chief Executive Officer has to relate to and answer to someone 
else,...(55)... deriving from inadequate working relationships will be fairly evenly distributed 
throughout the work hierarchy. 

46- 1) indulged 2) anticipated 3) fluctuated 4) assumed
47- 1) to which 2) which 3) which is 4) is
48- 1) above 2) due 3) close 4) prior
49- 1) secure 2) vulnerable 3) discrete 4) accurate
50- 1) stressfully high experience 2) a highly stressful experience

3) an experience stressful highly 4) a high and stressful experience
51- 1) sought-after 2) clear-cut 3) far-out 4) one-sided
52- 1) watch out 2) give in 3) stand for 4) cope with
53- 1) which is their responsibility for individuals 2) about their individual areas of responsibility

3) being an area where an individual is responsible 4) and is their individual areas of responsibility
54- 1) created 2) creating 3) to be created 4) is created
55- 1) this stress 2) such an stress 3) so the stress 4) its stress
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Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Each passage is followed by some questions. Answer the questions 
about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet. 

PASSAGE 1: 
Anthropologists have pieced together the little they know about the history of left-handedness and 
right-handedness from indirect evidence. Though early men and women did not leave written 
records, they did leave tools, bones, and pictures. Stone Age hand axes and hatchets were made from 
stones that were carefully chipped away to form sharp cutting edges. In some, the pattern of 
chipping shows that these tools and weapons were made by right-handed people, designed to fit 
comfortably into a right hand. Other Stone Age implements were made by or for left-handers. 
Prehistoric pictures, painted on the walls of caves, provide further clues to the handedness of ancient 
people. A right-hander finds it easier to draw faces of people and animals facing toward the left, 
whereas a left-hander finds it easier to draw faces facing toward the right. Both kinds of faces have 
been found in ancient painting. On the whole, the evidence seems to indicate that prehistoric people 
were either ambidextrous or about equally likely to be left- or right-handed. 
     But, in the Bronze Age, the picture changed. The tools and weapons found from that period are 
mostly made for right-handed use. The predominance of right-handedness among humans today had 
apparently already been established. 

56- What is the main topic of the passage?
1) The purpose of ancient implements
2) The significance of prehistoric cave paintings
3) The development of right-handedness and left-handedness
4) The similarities between the Stone Age and Bronze Age

57- Which of the following helped lead to conclusions about whether Stone Age people preferred one
hand to the other?
1) Petrified forms of vegetation 2) Patterns of stone chipping
3) Fossilized waste material 4) Fossilized footprints

58- According to the passage, a person who is right-handed is more likely to draw people and animals
that are facing … .
1) upward 2) downward
3) toward the right 4) toward the left

59- In paragraph 2, the phrase “the picture” refers to which of the following?
1) Faces of animals and people 2) People’s view from inside a cave
3) People’s tendency to work with either hand 4) The kinds of paint used on cave walls

60- The author implies that which of the following developments occurred around the time of the Bronze
Age?
1) The establishment of written records
2) A change in the styles of cave painting
3) An increase in human skill in the handling of tools
4) The prevalence of right-handedness

PASSAGE 2: 
The first birds appeared during late Jurassic times. These birds are known from four very good skeletons, 
two incomplete skeletons, and an isolated feather, all from the Solnhofen limestone of Bavaria, 
Germany. This fine-grained rock, which is extensively quarried for lithographic stone, was evidently 
deposited in a shallow coral lagoon of a tropical sea, and flying vertebrates occasionally fell into the 
water and were buried by the fine limy mud, to be preserved with remarkable detail. In this way, the 
late Jurassic bird skeletons, which have been named Archaeopteryx, were fossilized. And not only 
were the bones preserved in these skeletons, but also the imprints of the feathers. If the indications of 
feathers had not been preserved in association with Archaeopteryx, it is likely that these fossils would 
have been classified among the dinosaurs, for they show numerous theropod characteristics. 
Archaeopteryx were animals about the size of a crow, with an archosaurian type of skull, a long 
neck, a compact body balanced on a pair of strong hind limbs, and a long tail. The forelimbs were 
enlarged and obviously functioned as wings.  
    Modern birds, which are the descendants of these early birds, are highly organized animals, with a 
constant body temperature and a very high rate of metabolism. In addition, they are remarkable for 
having evolved extraordinarily complex behavior patterns such as those of nesting and song, and the 
habit among many species of making long migrations from one continent to another and back each 
year. 

61- According to the author, all of the following evidence relating to the first birds was found
EXCEPT…. 
1) nesting materials 2) four skeletons in good condition
3) two fragmented skeletons 4) a single feather
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62- It can be inferred from the passage that the Archaeopteryx were classified as birds on the basis of … .
1) imprints of bones 2) imprints of feathers
3) the neck structure 4) skeletons

63- The word “they” in paragraph 1 refers to … .
1) indications 2) fossils
3) dinosaurs 4) characteristics

64- Why does the author mention “a crow” in paragraph 1?
1) To indicate the size of Archaeopteryx
2) To specify the age of the Archaeopteryx fossils
3) To explain the evolutionary history of Archaeopteryx
4) To demonstrate the superiority of the theropod to Archaeopteryx

65- The author mentions all of the following as examples of complex behavior patterns evolved by birds
EXCEPT … .
1) migrating 2) nesting
3) singing 4) running

PASSAGE 3: 
The first navigational lights in the New World were probably lanterns hung at harbor entrances. The 
Massachusetts Bay Colony put up the first lighthouse in 1766 on Little Brewster Island at the 
entrance to Boston Harbor. Paid for and maintained by light dues levied on ships, the original 
beacon was blown up in 1776. By then, there were only a dozen or so true lighthouses in the colonies. 
Little over a century later, there were 700 lighthouses. 
    The first eight erected on the West Coast in the 1850s featured the same basic New England 
design: a Cape Cod dwelling with the tower rising from the center or standing close by. In New 
England and elsewhere, though, lighthouses reflected various architectural styles. Since most stations 
in the northeast were built on rocky eminences, enormous towers were not the rule. Some were made 
of stone and brick, others of wood or metal. Some stood on pilings or stilts; some were fastened to 
rock with iron rods. Farther south, from Maryland through the Florida Keys, the coast was low and 
sandy. It was often necessary to build tall towers there – massive structures like the majestic Cape 
Hatteras, North Carolina lighthouse, lit in 1870. At 190 feet, it is the tallest brick lighthouse in the 
country. 
    Notwithstanding differences in appearance and construction, most American lighthouses shared 
several features: a light, living quarters, and sometimes a bell (or later a foghorn). They also had 
something else in common: a keeper and usually the keeper’s family. The keeper’s essential task was 
trimming the lantern wick in order to maintain a steady bright flame. The earliest keepers came 
from every walk of life—they were seamen, farmers, mechanics—and appointments were handed out 
by local customs commissioners as political plums. After the administration of lighthouses was taken 
over in 1852 by the United States Lighthouse 803rd, an agency of the Treasury Department, the 
keeper corps gradually became highly professional. 

66- What is the best title for the passage?
1) The Lighthouse on Little Brewster Island
2) The Life of a Lighthouse Keeper
3) Early Lighthouses in the United States
4) The Modern Profession of Lighthouse Keeping

67- Why does the author mention the Massachusetts Bay Colony?
1) It was the headquarters of the United States Lighthouse Board.
2) Many of the tallest lighthouses were built there.
3) The first lantern wicks were developed there.
4) The first lighthouse in North America was built there.

68- It can be inferred from the passage that lighthouses in the Northeast did not need high towers
because… .
1) ships there had high masts
2) coastal waters were safe
3) the coast was straight and unobstructed
4) the lighthouses were built on high places

69- According to the passage, where can the tallest brick lighthouse in the United States be found?
1) Little Brewster Island 2) The Florida Keys
3) Cape Hatteras 4) Cape Cod

70- The underlined word “they” in paragraph 3 refers to… .
1) lighthouses 2) differences
3) quarters 4) features
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  ستايش محمديمسئول دفترچه: 
  زهرا تاجيك  آرايي نگاري و صفحه حروف

  عباسيحميد   ناظر چاپ
  

  » وقف عام«چي  بنياد علمي آموزشي قلم
  021- 6463تلفن: – 923پلاك  –خيابان انقلاب بين صبا و فلسطين  :دفتر مركزي
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  )اله استيري رحمت(                                                                 »2«گزينة  - 1
  نكتة مهم درسي:

، در ابتداي جاي خالي بايد ”... the more ... the less“با توجه به ساختار 
  موجود است.» 2«نة استفاده كنيم كه تنها در گزي ”the more“از تركيب 

 (گرامر)
----------------------------------------------  

  )محسن رحيمي(  »4«گزينة  - 2
  نكتة مهم درسي:

تـوانيم از   هيچ حرف ربطي وجـود نـدارد، نمـي    ويرگولبا توجه به اينكه بعد از 
همچنين، با توجه به اينكـه رابطـة   »). 2«(رد گزينة  جملة كامل استفاده كنيم

و  1«هـاي   (رد گزينـه  فعل مفعولي است، به ساختار مجهول نياز داريـم  اسم و
3.(«  

 (گرامر)
----------------------------------------------  

  )محسن رحيمي(  »3«گزينة  - 3
  نكتة مهم درسي:

با توجه به مفهوم جمله، در جـاي خـالي بـه ضـمير موصـولي نيـاز داريـم (رد        
يـك فعـل    ”occur“كـه فعـل    توجه به اين همچنين، با»). 4و  1«هاي  گزينه

  »).2«(رد گزينة  بيان كنيم آن را در ساختار مجهولتوانيم  لازم است، نمي
 (گرامر)

----------------------------------------------  

  )محسن رحيمي(  »1«گزينة  - 4
  نكتة مهم درسي:
ت، بـه  مفعـولي اس ـ  ”construct“كه رابطة بـين اسـم و فعـل     با توجه به اين

همچنين، با توجه به تقدم »). 4و  2«هاي  (رد گزينه ساختار مجهول نياز داريم
تـوان از زمـان گذشـتة سـاده      نمـي ، و همچنين فاعل جمع جملـه  خر عملأو ت

  »).3«(رد گزينة استفاده كرد 
 (گرامر)

----------------------------------------------  

  )محسن رحيمي(  »4«گزينة  - 5
  درسي:نكتة مهم 

  كنيم: براي اجتناب از تكرار در جملات منفي از ساختارهاي زير استفاده مي
» either +not + علاف + فعل كمكي « 

  »Nor/ Neither+  كمكي فعل + اعلف« 
 (گرامر)

----------------------------------------------  

  )محسن رحيمي(  »3«گزينة  - 6
  نكتة مهم درسي:

اسـتفاده شـده باشـد، بايـد از      ”have“ه در آن از فعل بعد از ساختار سببي ك
  استفاده كنيم. ”to“ن ومصدر بد

 (گرامر)
----------------------------------------------  

  )محسن رحيمي(  »4«گزينة  - 7
  نكتة مهم درسي:

(رد سـاير   با توجه به مفهوم جمله، به سـاختار شـرطي نـوع سـوم نيـاز داريـم      

تـوانيم   در جمـلات شـرطي، مـي   وارونگي با توجه به قاعدة ها). از طرفي،  گزينه

“If” فعل كمكي قرار دهيم. ،جاي آن را حذف كنيم و به  

 (گرامر)

----------------------------------------------  

  )عادله حيدري(  »2«گزينة  - 8
  نكتة مهم درسي:

  ”so + adjective / adverb“افتد بعد از ساختار  مياتفاق در آن يكي از مواردي كه وارونگي 

 ـ »). 3و  1«ي ها است (رد گزينه جـا   هدر وارونگي، فقط فعل كمكي و فاعـل جاب

  »).4«(رد گزينة  گيرد ميشوند و فعل اصلي بعد از فاعل قرار  مي

 (گرامر)

----------------------------------------------  

  )عادله حيدري(  »4«گزينة  - 9
  نكتة مهم درسي:

ال ضميمه بر اسـاس جملـة   ؤس ،باشد ”I don’t think“مثل   عبارتي هاياگر جملة پ

. دقـت  »)3و  2، 1«ي هـا  (رد گزينه )… she will beشود ( ميبعد از آن نوشته 

دهد، پس سـؤال ضـميمه    به جمله ميمنفي بار معنايي  ”I don’t think“كنيد كه 

  بايد مثبت باشد.

 (گرامر)

 ----------------------------------------------  

  )عادله حيدري(  »3«گزينة  -10
 نكتة مهم درسي:

يادگيري زبان توسط افـراد  » چگونگي«كيد بر أدهد كه ت ميمفهوم جمله نشان 

  »).4و  2، 1«ي ها استفاده كرد (رد گزينه ”how“است و بايد از 

 (گرامر)

----------------------------------------------  

  )حيدريعادله (  »4«گزينة   -11
  نكتة مهم درسي:

بنـابراين جملـه    ،مفعـولي اسـت   ”allocate“نسبت به فعـل   ”space“نقش 

جا به عبـارت وصـفي    . در اينموجود است» 4«كه تنها در گزينة مجهول است 

در  ،. اين عبارت”.having + been + p.p“يعني تركيب  ،مجهول نياز داريم

  زير است: وصفيشدة جملة  واقع كوتاه
the space which/that has been located for their offices in 
the new building 

 (گرامر) 

----------------------------------------------  
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  )محمد طاهري(  »1«گزينة  -12
  نكتة مهم درسي:

از زمان حال  است براي بيان عمل يا اتفاقي كه از گذشته تا امروز وجود داشته
در زمـان  ) است و state( يك فعل حالت ”own“فعل  شود. ميكامل استفاده 

  ).»2«گزينة (رد  استمراري كاربرد ندارد
 (گرامر)

----------------------------------------------  

  )محمد طاهري(  »4«گزينة  -13
  نكتة مهم درسي:
شود كه غلط  ميمجهول  ”start“در جاي خالي، فعل  »1«گزينة با قرار دادن 

). ساختار »2«گزينة قبل از خود نياز به فاعل دارد (رد  ”started“است. فعل 
  ).»3«گزينة جمله سؤالي نيست (رد 

 (گرامر)
----------------------------------------------  

  )محمد طاهري(  »1«گزينة  -14
  نكتة مهم درسي:
  است. ”on“شود  ميدقيق) استفاده  يها اي كه قبل از روزها (تاريخ حرف اضافه

 گرامر)(
----------------------------------------------  

  )محمد طاهري(  »1«گزينة  -15
  نكتة مهم درسي:
؛ نيـاز دارد  ”that“جملـه بـه    ةطبق ساختار زيـر در ادام ـ  ”so“ ةتشديدكنند

  صحيح است. »1«گزينة  ،بنابراين
»…+ that + /قيد حالت صفت  +so«  

 (گرامر)
----------------------------------------------  

  )عادله حيدري(  »2«گزينة  -16
برنامه را با گنجاندن موضـوعاتي كـه در ابتـدا     حدوداين جلسه «ترجمة جمله: 

 ،دنپيشرفته باش ـ اندازه از بيشرسيد براي كشورهاي در حال توسعه  مينظر  به
  »تر كرد. گسترده

  حدود) حوزه، 2  ) اجتماع1 
  خبري ) ناداني، بي4  ) انگيزه، مشوق3

 )واژگان(
----------------------------------------------  

  )محمد طاهري(  »4«گزينة  -17
هسـتند  و   شـاورز هـاي ك  هـا رعيـت   بيش از چهار پنجم صـرب «ترجمة جمله: 

 زراعـت  ،خودشـان اسـت   ةهايي كـه متعلـق بـه خـانواد     ها در زمين اكثريت آن
  »كنند. مي

  جمع شدن )2  ت گرفتنأ) نش1
  ) زراعت كردن4  دن) تابع قرار دا3

 )واژگان(
----------------------------------------------  

  )محمد طاهري(  »2« گزينة  -18
ها هرگز پنج سال پيش موقع طرح كـردن   رسد كه آن مينظر  به«ترجمة جمله: 

 »فكر نكردند. رنامه به مشكلات احتمالي آيندهاين ب

  ) احتمالي2  ردنيكنباور )1

  احترام ) قابل4  منطقي) غير3

 )واژگان(

----------------------------------------------  

 )سعيد كاوياني(  »3«گزينة  -19

 ييهـا  شـركت  نيناعادلانه ب ضيتبع احتمال وقوع ديجد نيقوان«ترجمة جمله: 

 »دهد. ميكاهش را نام در بورس هستند،  كه به دنبال ثبت

  اصلاح )2  كيب واژگانيتر) 1

  يبازرس) 4 ) تبعيض3

 )ژگانوا(

----------------------------------------------  

  )سعيد كاوياني(  »4«گزينة  -20
 ـ ميرسـد كـه نسـل قـد     مينظر  به«ترجمة جمله:  و  يآداب و رسـوم سـنت   نيب

متنـاقض و   يهـا  واكـنش ايـن امـر   مدرن گرفتار شـده اسـت كـه     يها ستميس

  ».به دنبال داردرا  ينامتعادل

  ياكتشاف) 2  يميتنظ) 1

  متناقض)  4 بخش تيرضا) 3

 )واژگان(

----------------------------------------------  

 )سعيد كاوياني(  »3«گزينة  -21

صـورت  كـه توسـط سـخنرانان دوزبانـه      يگفتار يانواع خطاها«ترجمة جمله: 

محدود به  يشناخت واج يساز كه فعال فرض نياگيرد، سبب ايجاد ترديد در  مي

  ».شود ميزبان مقصد است، 

  مهاركردن) 2 كوچك كردن) 1

  روانه كردن) 4  افكندن) 3

 )واژگان(

----------------------------------------------  

  )سعيد كاوياني(  »2«گزينة  -22
صادرات در  شيباعث افزا ياقتصاد جهان يايكه اح ميدواريما ام«ترجمة جمله: 

  »شود. يسال جار ةماند يباق

  اياح) 2  تنش )1

  بيتصو) 4 ماسه) 3

 )واژگان(

----------------------------------------------  
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  )سعيد كاوياني(  »1«گزينة  -23
دانش بوده است،  شبرديپ يثر براؤم يروش ياستراتژ نياگرچه ا«ترجمة جمله: 

 ».كند يمدل ارائه م كينسبت به آزمون جامع  تري كمتر قوياما شواهد 

  يمرز) 2  يقو) 1
  فرسوده) 4 مبهم) 3

 )واژگان(
----------------------------------------------  

  )سعيد كاوياني(  »2«گزينة  -24
 يكنند كه تقاضا مياستدلال  ستيز طياز دوستداران مح يبرخ«ترجمة جمله: 
[حوزة] در  شتريب يگذار هيتواند با سرما مي ،يشخص يخودروها يروزافزون برا

 .»متوقف شود  ميحمل و نقل عمو

  كردنمتوقف ) 2  كردن بيترك) 1
  غوش گرفتنآدر ) 4 كردن ليتحم) 3

 )واژگان(
----------------------------------------------  

  )روش عقيل محمدي(  »1«گزينة  -25
 هـوايي  و آب شـرايط  تغيير به توجه بدون آب اقيانوس، كف در«ترجمة جمله: 

  ».ماند مي باقي ثابت دماي در ،[اقيانوس] سطح در
   جدا) 2 ثابت) 1
  آشكار) 4  عقلاني )3

 )واژگان(
----------------------------------------------  

  )روش عقيل محمدي(  »3«گزينة  -26
 را يـك سـازمان   غيرمنتظـره،  اقتصـادي  تغييـرات  اوقات، گاهي«ترجمة جمله: 

 .»كند مي خود اصلي تجاري طرح از انحراف به مجبور

  انجام دادن) 2  كردن نقض) 1
  كردن درقا) 4  شدن منحرف) 3

 )واژگان(
----------------------------------------------  

  )روش عقيل محمدي(  »2«گزينة  -27
 محصـول،  يـك  براي تقاضا و عرضه بين تعادل وجود صورت در«ترجمة جمله: 

  ».كرد نخواهد تغيير آن قيمت
   تعادل) 2 اصل) 1
  كيدأت) 4  آلودگي) 3

 )واژگان(
----------------------------------------------  

  )روش عقيل محمدي(  »1«گزينة  -28
جنايـت امـروزه    و جـرم  نـرخ  افـزايش  رسد مي نظر به متأسفانه،«ترجمة جمله: 

 .»است بزرگ شهرهاي در زندگي رايج ويژگي اي طور فزاينده به

  اخلاقيات) 2  ويژگي) 1
  برخورد، تعارض) 4  آلودگى) 3

 )واژگان(
----------------------------------------------  

  )روش عقيل محمدي(  »4«گزينة  -29
 حركـت  خورشـيد  دور بـه  زمين كه تصور اين شانزدهم، قرن تا«ترجمة جمله: 

شـكل   به را ايده اين امروزه كه حالي در شد، مي تلقي مضحك تصوري كند، مي
  ».پذيريم مي عادي كاملاً

   هدف) 2 نسبت) 1
  ايده) 4  آلودگي) 3

 )واژگان(
----------------------------------------------  

  )روش عقيل محمدي(  »3«گزينة  -30
 با مرتبط مطالب انتخاب مقاله، نوشتن دشوار يها جنبه از يكي«ترجمة جمله: 

  ».است نامربوط اطلاعات حذف و موضوع
   امن) 2 ظريف) 1
  اهميت كم) 4  ، مرتبطمربوط) 3

 )واژگان(
----------------------------------------------  

  )روش عقيل محمدي(  »2«گزينة  -31
 به ها بيماري ورود از تا شود مي كنترل شدت به زنده دام واردات«ترجمة جمله: 

  .»شود جلوگيري كشور
   شدت به) 2 غيرمحتمل) 1
  قبلاً) 4  ندرت به) 3

 )واژگان(
----------------------------------------------  

  )آرمين رحماني(  » 1«گزينة  -32
فرآينـد دريافـت وام را بـا قـادر سـاختن       امتيـازات اعتبـاري  «جملـه:   ةم ـترج
تر در مورد توانـايي بازپرداخـت    تر و عيني گيري سريع دهندگان براي تصميم وام

  .»ندمتحول كرد افراد
  ) ساختن  2  ) تغيير دادن، متحول ساختن1
  شناختن) 4  تصور كردن) 3

 )واژگان(
----------------------------------------------  

  )آرمين رحماني(   » 2«گزينة  -33
و  تسـخ  منظور حفظ مواد غذايي موجود در طـول زمسـتان   به« جمله: ةترجم
  »ساكنين مجبور شدند كه سهم غذاهاي خود را كمتر كنند. ،سرد

      نگه داشتن  ،حفظ كردن) 2  نشان دادن ،به تصوير كشاندن) 1
    دور زدن ) 4   احاطه كردن ) 3

 )واژگان(
----------------------------------------------  

  )اله استيري رحمت(                                                                 »4«گزينة  -34
كـه   ياز مشاغل  ميين نده،يسال آ 10شود كه تا  ميزده  نيتخم«ترجمة جمله: 
خود را به  يرفته و جا نيز باست، ا رستانيدب لانيالتحص فارغ ارياكنون در اخت

  »وجود ندارند. در حال حاضرخواهند داد كه  يمشاغل
  ي) نگهدار2  ) مرجع 1
  ) وجود 4   وقوع) 3

 )واژگان(
----------------------------------------------  
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  )اله استيري رحمت(                                                                 »2«گزينة  -35
 ـدر رونـد   عيتسـر  منظـور  بـه «ترجمة جمله:   زهي ـانگ دي ـبا ،زبـان دوم  يريادگي

  ».ميباش داشته ،ميدست آور به ميدواريچه ام از آن يو اهداف روشن ميباش داشته

  كردن عي) تسر2  كردن يبردار ) بهره1

 شدن ) مانع4  مختل كردن) 3

 )واژگان(

----------------------------------------------  

 )روش عقيل محمدي(  »3«گزينة  -36

  نكتة مهم درسي:
 ،”in order to“ تركيـب  بعـد از  فاقد فعل اصلي هستند. »2و  1«ي ها گزينه

  ).»4«گزينة آيد (رد  ميصورت ساده  هفعل ب

 )ترتيب اجزاي جمله(

----------------------------------------------  

  )روش عقيل محمدي(  »2«گزينة  -37
  نكتة مهم درسي:

) نيـاز داريـم (رد   whoseبه ضـمير موصـولي ملكـي (    ،با توجه به معني جمله

ي هـا  فعـل  »4«گزينة دو فعل اصلي دارد. در  »3«گزينة  ).»3و  1«ي ها گزينه

   ساختار يكساني ندارند. ”and“قبل و بعد از 

 )ترتيب اجزاي جمله(

 ----------------------------------------------  

 )روش عقيل محمدي(  »4«گزينة  -38

  نكتة مهم درسي:
صـحيح   ”it“جـاي   هب ”there“كار بردن  هب ،با توجه به ساختار و معناي جمله

 ”to“بـا حـرف اضـافه     ”superior“صـفت  ). »3و  1«ي ها نيست (رد گزينه

 همچنــين، بــراي توصــيف فعــل از قيــد ).»2و  1«ي هــا رد گزينــهآيــد ( مــي

)rapidly(  رد گزينهكنيم  مياستفاده) 3و  1«ي ها«.(  

 )ترتيب اجزاي جمله(

----------------------------------------------  

 )روش عقيل محمدي(  »1«گزينة  -39

  نكتة مهم درسي:
). در »3و  2«ي هـا  آيد (رد گزينـه  مي ”on“با حرف اضافه ”Internet“ واژه 

رفته اسـت كـه   سوم شخص مفرد گ ”obtain”  “s“فعل  »3و  2«ي ها گزينه

گزينـة  در  .در جملـه صـحيح نيسـت    ”should“ باتوجه به وجود فعل كمكي

ســوم شــخص مفــرد آمــده در صــورتي كــه  ”s“بــدون  ”obtain“فعــل  »4«

“someone” .سوم شخص مفرد است  

 )ترتيب اجزاي جمله(

----------------------------------------------  

 )روش عقيل محمدي(  »3«گزينة  -40

  هم درسي:نكتة م
).  »4و  1«ي هـا  (رد گزينـه آيـد   مـي  ”of“ ةبا حـرف اضـاف   ”capable“فعل 

باعـث وارونگـي    ،در ابتـداي جملـه    ”rarely“سـازي ماننـد    وجود قيد منفـي 
رد شـود (  مـي باعـث وارونگـي ن   ”probably“). قيـد  »2«گزينـة  رد شود ( مي

صـورت   هفعل ب» نظر رسيدن به«معناي  به ”appear“). بعد از فعل »4«گزينة 
  ).»2و  1«ي ها رد گزينهآيد ( مي ”to“مصدر با 

 )ترتيب اجزاي جمله(

----------------------------------------------  

  )آرمين رحماني(    »1«گزينة  -41
  عيبي نداره ،مشكلي نيست) 1
  برد   ميبادآورده را باد ) 2
  تقصير من است ،نه )3
  ديخوبي اشاره كر ةبه نكت ،گل گفتي) 4

 )مكالمه(

----------------------------------------------  

  )آرمين رحماني(    » 4«گزينة  -42
  نكتة مهم درسي:

اعصاب  ،رو مخ بودن«معني  به  ”Drive sb up the wall“به تركيب واژگاني
  دقت كنيد.      »كسي را خرد كردن

 )مكالمه(

----------------------------------------------  

  )آرمين رحماني(    »4«گزينة  -43
  نكتة مهم درسي:

دقت  »نگاه انداختن به چيزي«معني  به  ”take a gander“به تركيب واژگاني
                                                                                                            كنيد.

 )مكالمه(

 ----------------------------------------------  

  )آرمين رحماني(    »2«گزينة  -44
  اتفاقي كسي را ديدن   ) 1
  از كار افتادن    ،خراب شدن) 2
  بغل جاده ايستادن  ،كنار زدن )3
  حمايت كردن ) 4

 )مكالمه(

----------------------------------------------  

  )آرمين رحماني(    » 3«گزينة  -45
  نكتة مهم درسي:

هـيچ كـاري   « معنـي  بـه   ”not/never  lift a finger“واژگـاني  بـه تركيـب  
  دقت كنيد. »دست به سياه و سفيد نزدن ،نكردن

 )مكالمه( 

----------------------------------------------  
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  )اله استيري رحمت(                                                                 »4«گزينة  -46
  بيني كردن، انتظار كشيدن ) پيش2  ي كردنرو ) زياده1
  ) برعهده گرفتن4  ) نوسان داشتن3

  نكتة مهم درسي:
از اهميت برخوردار «معناي  به ”assume significance“به تركيب واژگاني 

  دقت كنيد.» بودن
 )كلوزتست(

----------------------------------------------  

 )اله استيري رحمت(                                                                »3«گزينة  -47

  نكتة مهم درسي:
داريـم (رد گزينـة   » كـه «خالي نياز به مفهوم  با توجه به مفهوم جمله، در جاي

وارة وصفي و بعد از ضمير موصولي نياز به يك فعـل داريـم (رد    در جمله»). 4«
  »).2و  1«ي ها گزينه

 )كلوزتست(
----------------------------------------------  

  )اله استيري رحمت(                                                                 »4«گزينة  -48
  موقع ) مناسب، به2  ) بالا1
  ) قبلي4  ) نزديك3

  نكتة مهم درسي:
بـدون خبـر و   «معناي  به ”without prior intimation“به تركيب واژگاني 

  دقت كنيد.» قبلياطلاع 
 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(                                                                 »1«گزينة  -49
  پذير ) آسيب2  ) امن، در امان1
  ) درست، صحيح4  ) جداگانه3

 )كلوزتست(
----------------------------------------------  

  )اله استيري رحمت(                                                                 »2«گزينة  -50
  نكتة مهم درسي:

، تنهـا گزينـة   »اسم + صفت + قيد + معـرف اسـم  «با توجه به ساختار گرامري 
  درستي پر كند. خالي را به تواند جاي مي» 2«

 )كلوزتست(
 ----------------------------------------------  

  )اله استيري رحمت(                                                                 »1«گزينة  -51
  ) واضح، روشن2  طرفدار، خواستني) پر1
  طرفه ) يك4  عادي) بسيار عجيب و غير3

 )كلوزتست(
----------------------------------------------  

  )اله استيري رحمت(                                                                 »4«زينة گ -52
  ) تسليم شدن2  ) مراقب بودن1
  چيزي برآمدن ة) از عهد4  ) مخفف چيزي بودن3

 )كلوزتست(
----------------------------------------------  

  )اله استيري رحمت(                                                                 »2«گزينة  -53
  نكتة مهم درسي:

ساختارهاي موازي اطراف جـاي خـالي، تنهـا گزينـة     ضرورت وجود با توجه به 
  درستي پر كند. تواند جاي خالي را به مي» 2«

 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(                                                                 »4«گزينة  -54
  نكتة مهم درسي:

واره در  كند، پـس نبايـد از جملـه    ميمعناي جمله را به كلي ناقص » كه«ورود 
 ”create“براي فعل  ”stress“نقش »). 2«خالي استفاده كرد (رد گزينة  جاي

ي نياز به ساختار مجهول داريم (رد خال در اين جمله مفعولي است، پس در جاي
شـود   مي، جمله فاقد فعل اصلي »3«كارگيري گزينة  در صورت به»). 1«گزينة 

  »).3«(رد گزينة 
 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(   »3«گزينة  -55
  نكتة مهم درسي:

داريم. دقـت كنيـد   » بنابراين«عناي م  به ”so“خالي نياز به حرف ربط  در جاي
، در اطـراف دو طـرف ويرگـول جمـلات     ها كه در صورت استفاده از ساير گزينه

لحـاظ گرامـري نادرسـت اسـت چـرا كـه        ازكامل خواهيم داشت كه مشخصـاً  
  هم وصل كند. تواند دو جملة كامل را به ميويرگول به تنهايي ن

 )كلوزتست(

 ----------------------------------------------  

  )روش عقيل محمدي(  »3« ةگزين -56
  »چيست؟ متن اصلي موضوع«ترجمة جمله: 

    »دستي چپ و دستي راست گيري شكل«
 )مطلب درك(

----------------------------------------------  

  )روش عقيل محمدي(  »2« ةگزين -57
 افـراد  آيـا  كـه  اين مورد در گيري نتيجه به زير موارد از يك كدام«ترجمة جمله: 

  »كرد؟ كمك ،خير يا دهند مي ترجيح ديگر دست به را دست يك حجر عصر
  »سنگ تراش الگوهاي«

 )مطلب درك(

----------------------------------------------  

  )روش عقيل محمدي(  »4« ةگزين -58
 و افـراد  بيشـتر  اسـت،  دسـت  راسـت  كـه  فـردي  متن، براساس«ترجمة جمله: 

  »هستند. ... كند كه مي مترسي را حيواناتي
  »رو به چپ«

 )مطلب درك(

----------------------------------------------  
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  )روش عقيل محمدي(  »3« ةگزين -59
از موارد  يك كدامبه  ”the picture“عبارت  »2«در پاراگراف «ترجمة جمله: 
  »زير اشاره دارد؟

  »دست دو هر با كار به افراد تمايل«
 )مطلب درك(

----------------------------------------------  

  )روش عقيل محمدي(  »4« ةگزين -60
 برونز عصر در زير تحولات از يك كدام كه كند مي اشاره نويسنده«ترجمة جمله: 

  »داد؟ رخ
  »دستي راست شيوع«

 )مطلب درك(

----------------------------------------------  

  )آرمين رحماني(    »1«گزينة  -61
شـواهد زيـر مربـوط بـه      ميي نويسـنده، تمـا  هـا  براساس گفتـه «ة جمله: ترجم

  »مواد لانه سازي. جز  هب يافت شده بود، نخستين پرندگان
 )مطلب درك(

----------------------------------------------  

  )آرمين رحماني(    » 2«گزينة  -62
سـاس  برا آركئـوپتريكس تـوان اسـتنباط كـرد كـه      مـي  متناز «ترجمة جمله: 

  »بندي شدند. ي پردار بودنشان در گروه پرندگان طبقهها نشانه
 )مطلب درك(

----------------------------------------------  

  )آرمين رحماني(    »2«گزينة  -63
هـا)   فسـيل ( ”fossils“بـه  » 1«پاراگراف در  ”they “كلمة «ترجمة جمله:  

  »كند. مياشاره 
 )مطلب درك(

----------------------------------------------  

   )آرمين رحماني(    »1«گزينة  -64
اشـاره   ”a crow“ عبـارت  بـه  »1«پـاراگراف  چرا نويسنده در «ترجمة جمله: 

  »كند؟  مي
  »را نشان دهد. آركئوپتريكس ةكه انداز براي اين«   

 )مطلب درك(

----------------------------------------------  

    )رحماني آرمين(    »4«گزينة  -65
يي از الگوهـاي  هـا  عنـوان نمونـه   موارد زيـر بـه   ةبه هم نويسنده«ترجمة جمله: 

  .»دويدن جز بهكند  اشاره مي توسط پرندگان يافته تكاملرفتاري پيچيده 
 )مطلب درك(

----------------------------------------------  

 )محمدجواد آقايي(    »3«گزينة  -66

  »ان، براي متن چيست؟بهترين عنو«ترجمة جمله: 
  »متحده ايالات دريايي در يها اولين فانوس«

 )مطلب درك(

----------------------------------------------  

  )محمدجواد آقايي(    »4«گزينة  -67
  »كند؟ مي ماساچوست اشاره خليج مستعمرة به نويسنده چرا«ترجمة جمله: 

  ».شد ساخته جا آن در شمالي آمريكاي در دريايي فانوس اولين« 
 )مطلب درك(

----------------------------------------------  

 )محمدجواد آقايي(    »4«گزينة  -68

 شـمال  دريـايي  يهـا  فـانوس  كـه  كرد استنباط توان مي متن از«ترجمة جمله: 
  ». …زيرا ،نداشتند مرتفع يها برج به نيازي شرقي

  .»بودند شده ساخته مرتفع يها مكان در ها فانوس«
 )مطلب درك(

----------------------------------------------  

  )محمدجواد آقايي(    »3«گزينة  -69
 كجـا  را آمريكـا  در آجـري  دريـايي  فانوس بلندترين طبق متن،«ترجمة جمله: 

  »؟يافت توان مي
  »تراسها  كيپ«

 )مطلب درك(

----------------------------------------------  

  )محمدجواد آقايي(    »1«گزينة  -70
 شـده  كشـيده  خط كه زير آن »3« پاراگراف در ”they“كلمة «ترجمة جمله: 

  ».كند مي اشاره … به است،
  »دريايي هاي فانوس«

 )مطلب درك(

----------------------------------------------  
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